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1. ERT (AT (4, y) 03 199 5 @59 20, y-a9 5 Fo 2

Ans. R 0 (0,0) € (-4, y)-GH MGG = \/(—4—0)° +(y—0)* 9 =.[16+)° 9

S G, J16+y? =5
A, 16+ y* =25 (TS 217 99 F(F AI2)
al,  y?=25-16
4, y2 =9
A, y=43
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2. (3,0), (-3, 0), (0, 3) o foal camt 03 @ fage Seow 27, G < w914 (g ?

Ans. 43, A (3, 0), B (-3, 0), C(0, 3)

AB =J(=3-3)> +(0-0)> &% =36 TG =6 9P
AC =1J(0-3)* +(3-0)° 9FF = /919 GFF =+/18 G5
= J3x3x2 TP = 3,/7 &5
BC=+/(0+3)’ +(3-0)> 9% = /9 + 9 G5 — /18 &5
=32 T
AC? +BC> = (32)* +(3v2)°
A, AC*+BC*=18+18=36=(6)
A, AC?*+BC* = AB®
. RITIRICTR Reidre Soioivy S A ABC @30 il fager, A AC = BC
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3. @R, (2,5),5,9), (9, 12) 932 (6, 8) TWI 2777 i FaCeT @F T991 Cofd 2H |

Ans. 4[5, A (2, 5), B (5, 9), C (9, 12), D (6, 8)

AB=1[(5-2) +(9-5 9% = 9116 9FF =25 G =59
BC =957 +(12-9)" 9 =/16+9 &TF =25 4% =535

CD=1/(6-9)+(8-12)" 9FF =\J9 116 ITF =25 GFF =535

DA=\/(2-6)* +(5-8)* % = \[16+9 I =25 GFF = 54

AB=BC=CD=DA
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4. 0 (0, 0), A(4, 3) 92 B(8, 6) {9 o=t wrwrra fat gfs whe

Ans.

04 =1/(4—-0)° +(3-0)° 9FF=16+9 9FF =59TF

AB =[(8—4)? +(6-3)° GFF=,/16+9 GFF = 54T

OB =/(8-0)* +(6—0)* TF=1/64+36 ITF =109
OA+AB=5+5=10=0B
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